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Problem 1 (25 points).
Use variation of parameters to solve the initial-value problem

y' =2 +y=xzc” y(0) =0, ¢'(0)=1.
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Problem 2 {25 points).
(Give the general solution for the differential equation
oy -2 (x+ 1)y +4y =0,
making use of the fact that y = € is a solution to that differential equation. S s Lo Fora
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Problem 3 (25 points}.
Without computing the particular s
value problem

olution determine for which values of a the boundary

' —y=ae *+1for0<z <1 with  /(0) = »(0) ¢'(1)=y(1)

has infinitely many solutions? For which values does it have no solution at all?
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